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mPFZER B AFZER
FE| HE B #M A flitg @) | | F4E| B8 B # A flitg (Bir)
INADCKEBRITER S E1E 2,200M (S] JOHJLR F&TE T 1,386M
/N 135y INADCKEBRITER N 5§25 2,200M (S] JOHLR F|EEXI 1,386M
4 N4 HEHEERID-) 1S 2,200 (S] REEIHREOD 660M
INA HEHEBERID - F2E 2,200 - (S] REHBEINEE 660M
IVFIBRUSTEIN 815 1,925M T T-A) 259K EE 1,518/
INFIBRIUSTER N 825 1,925 (T-A] RH>H—-RK HEEI 1,518M
rmRy INFIBRIPITERN 35 1,925 [S - T] Reading for Speed and Fluency 2 2,310
N INFIBRIPITERN #4%5 1,925 _ [A] Reading for Speed and Fluency 1 2,310
5 INFIBRIPSTERN $55 1,9257 | 7 [S]J0JLZ &I 1,276
INFIBRIUITERN 865 1,925 (S] JOJLR #A 1,276M
Ha INEHARPITERN E1S 2,200M (S] 051X #1 1,386M
INEHRTITERN #E25 2,200M #BFE |[T-A-U] ZF249-R #K1 1,518M
INFIBRIPITERN #7585 2,200M (T-A-U] Z9>249-RK A 1,386M
BRAEI 2,200M (T-A-U] ZF>45—-R #1 1,848M
BRALI 2,200M (U] RZ>9—-R #B 1,386M
I ER (IBRlkem 2,200M 5 (S-T] J0JLR BRXI 1,386M
6 BRIV 2,200M (S-T] JO0JLR HEr 1 1,518M
BRAEV 2,200M (S] JOHJLR ZEEEEBX 1,386M
IBERIRSVI 2,200 (S] SO0Vl RX EEEXI 1,276M
e INFHBUITFRN 835 2,200 (S] REEIHREBED 660M
INFHBUITFERN 8E4% 2,200 o (S] REHBINEE 660M
(T-A] 2724 —-R HEEHEX 1,386M
SRR [T-A] 29>49—R EEEX 1,276/
FE| BE B Aa flitg ®r) [S-T] Reading for Speed and Fluency 3 2,310M
WEE | PSFERL &WEE Pl 1,980/ [A] Reading for Speed and Fluency 2 2,310
HE |UIFERN #HFE $1 1,980 | _ [S]70FLR #%1 1,386M
PIFEAN EE D1 15 1,320/ | T [S] F0JLZ #B 1,276
=8 EFE |[€37FAN EHFE 1 25 1,320 (T-A] RH>H—R #1 1,848M
1 UIFEAh EE 1 35 1,320M #8F [[T-A]l Z9>9-R #B 1,386M
R (P37 BR i 1,980M (IB#1S-T-A] JOJLR #81I 2,090
Ha P72~ g1 1,650 (Z#8S - T] KEFREBRRYHI—R HFIB 1,980M
PITFAL EEl 1,100 (XEHT] KEZERRIHI-R HFTA 1,980M
WEE |UIFFAL HWEE 42 1,980M 5 [S-T]JO0JLX BAXI 1,386M
BE |UIFEAN #HF 42 1,980M [S-T]1JOJLR el 1,386M
U+ EHFE 2 15 1,430 IR | ZF>H-R YpERERE 1,386M
=8 EFE |[€3F7FAN EHFE 2 25 1,430 1% |E#EXIFE 3,850
2 TIFEZN EEE 412 35 1,430 (S-T] REREBRIDI LR FEEX 2,090
Rl | U3TFRN BR g2 1,980 (S-T)] AEZEBRIOILA BCE-BE 1,980M
e TIFFRN g2 1,650/ [S-T] Reading for Speed and Fluency 4 2,310
TITFRN BE2 1,650 REE | [(HF)] KESZRRIY-R 5ifER 1,870M
WEE [EIFERN HEE 3 1,980/ (HF)] KEZEBRRIY-R BE-SCER 1,980M
BE |UIFEAN #HF 43 2,200/ [HF] AEZERIII—R VRV HR 1,430MH
TIFEZN EEE 43 15 1,650 (#7] B2t 54—4wh1900 1,210M
=8 EFE |[€37FAN EHFE 413 25 1,650 (IS ] ARXMREFE Ma 2,750M
3 P+ EHFE 3 35 1,650 (IB#S] AExiREF IAILBa 2,200
Rl | U37FRN BR 43 1,980 (B3 T] JO0JLA BREE BIALB) 1,848M
Ha P72~ EE3 1,100M = e | T-A] SOJLR O 2,090
P72 DR 1,980M 3 (X#S-T] JOJLR BREF FXIAIB) 1,848M
(SEHT] KEZBRAII-R HFT A 1,980M
(XEHT] KFEZERAII-R HF 1B 1,980M
(2] KFZERTOILR AN 1,980M
— (2] KFZERTOILR Sl 1,848M
(HF] KEZERRTI-R BBAX 2,200
(HF] KEZERRIHI-R it 1,980M
o HEIARYNIED 3,850
HEIARYNIEQ 3,850
(e HEIX(EFDO 3,850
IR FO 3,850




